Logaritmi

Sistemi di equazioni logaritmiche

x+y=8 .
' llogx + logy —log12 =0 (2,6); (6,2)
x—y=3
? logx+logy = log 4 (4,1)
3 Y =2 8,1); (1,8)

4lnx+lny =In8

logx +logy =1
x—14y =4

logx —logy =0

° logx +logy =4 (100,100)
logzx —logzy =2

° x— 2y = 14 (18.2)

x+y=4

7 1 (2!2)
logis x +10g16y = 5
log, x +log,y =3

° Inx—-—Iny=1In4 (1/2,12)
logzx —logz3y =3 1

’ ‘loggx—2l0g3y=4 (9’3)

10

Inx+y)=Imn3+1In5
Inx+ny=2 ln(S\/E)

(5,10); (10,5)

logs(xy) = logs 8

H 12 log, x —log,y =0 @o
Sk ll:)(cx—_lr}l] ;zz% °

B log, chn_:‘ l;glzn 3(1 2=y)lo(=gzo3 -1 <\/§ §>
" 41"5)2’2{ (: Tf»;y: S ! (1,3 (3,1)
v ‘lol;;g §§x++12£ y - 1 &)

iy loglx —2y)=1 (18.4)

‘logg(x—‘)) =4log33—2
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Logaritmi

Sistemi di equazioni logaritmiche

17

{ x2+y?=2
logzx —logzy = logz 4 —1

W2 32\ (42
(25

5 ’

3v2

5

)

18

{logx+logy= logV3 —2log2
2x —1=+3-2y

’

ST
~| 3
N

G5)(3)

19

{ (x+y)*+2xy =425
log, x + log, y = log, 100

(5,20); (20,5)

log;(2y —x) =0

20 4 (<10)
3% +3Y ==
3
2logsx +4logsy = 16
4 ‘4log4x —5logsy = -7 (16,27)
2lnx+2lny=1
22 {loglx+logly: —1 )
3 3
loggxy =1
' 1,8); (8,1
“ logs(x +y) =2 (1,8); (8,1)
loge 10x = logg y . ]
“* 1 Blogx+2logy =3 (¥/10,103/10)
2 _ —
s | [2logx” —2log,y =4 "
log,(xy) = 4
6% = 8(2y~*-3v 1)
o log,y, 12 =1 (34); (—=4,-3)
27 | logyt1y =1 ; G
log,y +1=logs(x+1)
28 (log(Jx —y) = log(y — 2) p
2%-2Y =8
3y
29 32x 27 ©3)
logz(yy —x) = logay
5logs* + 2x = 2 3 3
’ - (55 30)

logs(x —y) —2logsx =1

31

xy = 100
{ylogx =1

(1,100); (100,1)
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Sistemi di equazioni logaritmiche

Logaritmi
32 yloo* = — (100 i)-(i 100)
100 10/ "\10’
xy =10

logx +logy =1

33 z+y=11 (10,1,10); (1,10,1)
logz x = logs z
x+y+z=7 3 3
34 [{Inx+Iny=1In6 (3,2,2); (4,—,—)
2°2
Inz—Iny=20

35

log,x+logy =a
x—y=a-—1

(a,1)

36

37

In(3a) = In(x +y)
 in(xy) = In(2a?)

{1092 xy =log,(b — 1)

(a,2a); (2a,a)

(b-11);@,b-1)

38

(b2, 2); (bl—z —2)

39

40

x+y=5»b
x¥ = b*
s
x¥y=b
1 X
=m-m
VvmY

mnx—Iny=mn(1-y)—In(x+y+1)

{ x+y=13
Inx+Iny=1log36

x=4 y=9 x=9 y=4

41

{ x+y=29
Logx + Logy =2

x=25 y=4
x =4,y =25

42

{Logx+Logy= 3
Logx —Logy =1

x =100, y =10

Logx —Logy =1 ) )
* {3L0gx+2Logy:3 x=10, y=1
{x+Logy2=3 =1y =10;
44
yleo x:z)y:i\/ﬁ
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Logaritmi

45

Logx —Logy =1
100 2

e
x 5

Sistemi di equazioni logaritmiche

5
x =25, y=§;

x =100, y =10

46

{ x3 +y3=1001
Logx —Logy =1

x=10, y=1

47

{Logx+Logy=1
x+y=7

48 5(logyx+logxy)=26 x=2, y=32
xy = 64 x=32,y=2
xy =40 B 3
9 {xLogy—Logzzz x=10, y=+4
{xy=40 x=10, y=4;
50
xLogy = 4 x=4, y=10
1 {xww:z x=10, y=2;
xy =20 x=2, y=10
log, log, log, y =0
52 _ x =3, y=9
{ log,9 =1
Logx+Logy =1 _ B
>3 {Logx—LogyzB ¥ =100,y =15

54

55

{ x+y? =13
Inx+Ilny=1Iné6

{Logx+Logy= 1
x* +yt =641

56

N =

{Log\/}—Log\/_=
3Logx+2Logy =8

x =100, y=10
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Logaritmi

57

{ x*+yY =31

xinx+ylny =1In108

Sistemi di equazioni logaritmiche

58

xy = 100
xt09* =10

x =10, y=10;

= 1000

59

60

{log2x+210g4y=3
x+y=6

1

{yLogx =4
x¥y =10

x=2, y=4 x=4, y=2

x =100, y =2;
=100 VT

61

Log 100+ Logy = 4
{Logx + log, 100 = 2

x =10, y =100

62

log, xy =5
{l Z-1
0g1—=
giy

x=4 y=8, x=—4, y=-8

Log(x? + y?) —1 = Log13
63 _ _
{Log(x +y)+ Log(x —y) = 3Log2 x =69, y = +V/61
x¥ =5x—4
o {logx16:2 x=4, y=2

65

66

{log4x— log,y=20
x> —5y2+4=0

{3logyx —log,y=2
x> +y=12

67

{ 2%4Y = 32
In(x —y)? = 2in2

68

v30

Logx — Logy = LogVv10

5
2Logx + Logy = >
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Logaritmi Sistemi di equazioni logaritmiche

” { x+y=25

Logx + Logy =2

x=20, y=5 x=5 y=20

logs x + logz y = —0,5 1
70 {loggx—log3y=—1,5 *73 y=\3
. {log(x+y) = 2(logVx + logVx) x=4 y=f
2% = gv 3

7o {Logx—Logyz 1

2%:2Y = 8%

x =100, y=10

Logx
Logy

73

x%2 +y? =29
74

{3x 3Y =93

Log\/—+Log\/_——

1
_ _ x = 10, =—,;
s {Loix+x}L]0;g){1 2 Y= 70 1
x=—110,y=—ﬁ
o = 001 x =10, y=-2;
e {Lo x2+, =0 : 2
g y = *T100 YT
77 { 5log;(2x —3y) — 3 log,(6x — 5y) =3 x=1, y=-2

12log,(2x — 3y) — 51log,(6x — 5y) = 16

78 logz z + logs; x = 2b

{logg, y+logzz =2a
logs x +logzy = 2c

x = 3b+c—a’ y = 3c+a—b'

7 = 3a+b—c

7
7 log4x+log4y=§ x=8, y=16;
=16, y=28
x2 +y2 =320 g Y
Logx + Logy =1 x=10, y=1
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Logaritmi

81

82

83

84

85

3
Logx - Logy = 16

xy =10

x+y=110

Log(xy) + Log (5 +2)
0g\xy 09 v x
Log(8x + 6y) =2

{logax—logayzb
x+y=a

(Log(x*y) + Log(xy®) = 9

4log2(x2 +x+4)—3log,(y>* +y+4) =-2
log,(x* +x +4)? = 2log,c(y* +y+4) =6

Sistemi di equazioni logaritmiche

x=3, y=3;

x=—4, y=—4
x=3, y=—4;
x=-4, y=3

x = V1000, y = V10;
x = V10, y = V1000

x =100, y =10;
x =10, y =100

86

{ xk°9y =100
(Logx)? + (Logy)* =5

=10, y =100
x =100, y=10
1 1
*=10" Y 100
1 1
~100° ¥ T 10

87

88

r1L 1L =0
cLogx —>Logy =

A

1L 1L =1
5 Logx —5Logz =

1 1
3 Logz — §Logy =2

{Logx — Logy =1
x% +y? =10100

x =10, y=10°% z=108

x =100, y =10;
x =-—100,y = —-10

89

90

91

92

93

v30

{ZLogx + Logy =5
Logx — Logy =1

Logx + Logy = 2
x—y=21

Logx + Logy = 4
Logx — Logy = 2

xy = 300
xko9y =9

x3 +y3 =1001
Logx + Logy =1
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x =100, y =10

x=25 y=4

x = 1000, y =10

x=3, y=100

x=10, y=1;
x=1, y=10
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